from tkinter import *
def Calculate():
a=eval(E_amount.get())
b=eval(E_years.get())
c=eval(E_intRate.get())
d=a/((1-pow((1+(c/1200)),(-b*12)))/(c/1200))
L6.config(text=(" B #E 3 5% '+format(d,',.2f')+'T'),font=4)
root=Tk()
root title('SREVEHEETHE A4 (Python HHER)')
sw=root.winfo_screenwidth()
sh=root.winfo_screenheight()
h=170
w=575
x=(sw-w)/2
y=(sh-h)/2
root.geometry('%dx%d+%d+%d'%(w,h,x,y))
root.iconbitmap('PingDa.ico')
L1=Label(roottext="# AR ZIREFEETE LY - RS HHEZHTRGET #,font=4)
L2=Label(root, text="s% i \ EEX4H 44 « EERARERLY BRI ¢ ' font=4)
L1.grid(row=0,columnspan=2,sticky='w")
L2.grid(row=1,columnspan=2,sticky="w")
L3=Label(root,text="E3X 444 4E (5141 - $5,000,000 > g A : 5000000)',font=4)
L4=Label(root,text="EZX4EFHEL (B4 - EFX 14 > 55 A : 20)',font=4)
L5=Label(root, text="EFREF L (40 : FEF2 3.57% » 555 A 3.57)" font=4)
L3.grid(row=2,sticky="w")
L4.grid(row=3,sticky="w")
L5.grid(row=4,sticky="w")
E_amount=Entry(root)
E_years=Entry(root)
E_intRate=Entry(root)
E_amount.grid(row=2,column=1)
E_years.grid(row=3,column=1)
E_intRate.grid(row=4,column=1)
B1=Button(root,text="3E>>' font=4,command=Calculate)
B1.grid(row=5,sticky="w',padx=3)
L6=Label(root,text="45 A ##7=..." font=4)
L6.grid(row=5,sticky="e')

root.mainloop()



